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Full Marks : 60
Time : Three hours
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Jull marks for the questions.

Answer either in English or in Aésame_se.
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OPTION -A
( Programming in Visual Basic/Gambas)
Paper : CSC-HG-4016
GROUP -
RS
1. = Answer the following questions :
(@) When and who developed Visual
Basic ?

e ?
(b) DSN stands for
(Fill in the blank )

'ﬁb‘uﬂ‘i@ﬁa@ﬁm e TR
(T AT 999 )

. (¢) What is a list box ?’
. ofmaw R
(d) | What is project file.?
UG T 2
(e) What_is Flexi gﬁd ?
FEde & ¢
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1x7=7

N

(f/ Debugging is the process of getting
an application to work correctly.

( Write whether True or False )

i tarm dm‘aﬁmﬁ$m$ Ao T
lata @R el | @Wﬁcwiﬁ@f%%U

(9) VB statements must be placed within
.a single line.
(Write whether True or False)

VB ﬁqﬁwﬁgxﬁﬁ*Wﬁaﬁ?@$5%ﬁ$q?m%a|
(31 1 571 forain)

Answer the following questions : 2x4=8

(a) Name the three special values in
Visual Basics. -

fouree @ibsre MG Roem wm am fra

(b) What is REM statement ?

" REM Refe e
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() Outline a Visual Basic program for
displaying the grade of the student in
a text box based on the marks of a

. student as follows :

- Marks > 90 80-90 70-79 60-69 50-59 < 50

Grade SABCDE

PO GO THE 65T Ofe T 51 i)
S QIS (AT AT AN GO PN T
P! ooTe frdll @ FeARA Wi

THI > 50 Y0-50 20-95 VO-Yd ¢O—d < ¢0
(% SABCDE '

(d) -What is event procedure ?
T Ete fF e

Answer any three of the following
questions :

e oAt A ot e e fi

9%x3=15

' (a) What does VarType() do? Write its

syntax. |
AVax’Pype) q & FE2 [WR IR ﬂﬁ)ﬂﬁ‘?‘ﬁﬂl

(b) What is a function ? How is it declared
and called ? :

FIGH 2 (@ET 3 (TN TR NG B 2
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(c) Differentiate between general
procedure and event procedure. .

| e ﬁ%ﬁ“GW$ET§%‘qﬁf5§qﬂ?hVWﬁﬂ
IGEIN

(d) What is select case ? Write its
general syntax.

'axﬁ@C¢5ﬁ$93maﬂwmqammemaﬁ#wn

: '_{e)- Write the description and ‘usage of

the Do-loop statement.

Do-loop (BHCT61 [Reqs o BIERSAEE

GROUP-B
o -9
Answer any three of the following questions :
‘ : 10x3=30

(@) Explain any three controls in VB to
manipulate data retrieved from tables.

ﬁ?ﬁﬂm%amamwmaﬁﬁaVBwamq¥‘
Rz fefb! fage i <= |
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(b) Implement the VB program to

(c)

(@

maintain the employee information i
using MS ACCESS and ADODCI1

control (empno, ename, dept_no, "

salary, HRA, TA, DA and net salary)

MS ACCESS W% ADODCI control.
(empno, ename, dept_no, salary, HRA,
TA, DA 9@ net salary) IR IR TR
w2 IFANET FRAE VB 2as o 341 |

Why is ADODC control necessary for

- database connectivity ? .

©i5IEEs A @ ADODC e 51
AT ? '

Write a VB program to process the .
grades of a student along with the
form design.

7 iz @S qo BE (A6 2ifERea
FfRata VB e &l
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(e) Wirte a program to update database

with the help of VB form. The form.
contains the name of employee, his
date of birth, total pay, total deduction
a_nd his home address

VB" form EWWWWWF{ «Tof
STl o7l | SPlaeTs TR FIF, (963 & O,
I VT, P T OIS (969 G99 e AT |

() Write a VB program to prinf the
discount based on the category:

Category Discount
) - 50% on MRP
2 40% on MRP
3 30% on MRP
4 20% on MRP

@R esige ofe TR @ﬁ%ﬁﬁa’m@
ﬁﬁamf%m ‘

ﬁ—iﬂ @R '
1 50% €536 MRP
2 40% €5T® MRP
3 30% @%TS MRP
4 20% 659 MRP
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OPTION -B : | (d) A firewall is a secure and trusted
machine that sits between a private

rmation S it d Cyber Laws
(I’_lfo L A D, M J and public network.

- Paper : CSC-HG-4026 AR - (State whether true or falsé)k
GROUP-A , L TISAE (2R 95! RS Wi Tl Gibe
A2l — | ‘ R bl J&ae o= AT= @579 oo IR
: ‘ Ll P (751 ¥ % f730)
. Answer the following questions : 1x7= : . :
; S &id , (e) What is BIOS ?
woTe firal epsi Tew fordt ¢ e e |
(a) Define digital signature. ‘ % (f) Which protocol is used in ping
_ command ?
- fofete = e _ (i) UDP
(b) What is IP spoofing ? ' | (i) TCP
wiRft fi e | o il e
\ { ‘

_ (iv)] None of the above
() ——— is the art of determining R ' ) 51 o175 e ‘
what is right and wrong and then Fing sammand 9 il

doing the right thing. 2°?
' (Fill in the blank)

. () T
% A R B IR e i) BHE
Ui O fAge oF B I = R

(=T 912 %47 1)
e ' (iv) SRA (FIIBIEE T2
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(g) Accessing of data vnthout having 3% Answer any three of the following -

permission is called . ' questions : . 3x5=15 .
(Fill in the blank) J wete Toml Rz [oRsT e w Tt
W’I“ﬁ Wﬁm Ty A TG I () What are the' various crimes
@ = (T} 212 7[5 F0) e happening using computer ?
.‘ 2. Answer-the following guestions: 2x4=8 | mmﬁ}jﬂ? A AR
wers fil e T it ¢ (b) Write different types of cyber-attacks.
(a) Dlsungwsh between threats and _ . - RS =9 vizaiT SiaeR ﬁmﬁam
A ‘ ' (c) Write about encryptmn and |
'ﬁﬁs e SEAE AETS AleF AT : decryption.

F

|
(b) What are data protection and prrvacy ? ' | G5 @FW ﬁﬂm iGEIT
i

St 50 g - (d) Explain the difference between
© W b C‘sﬂ el ¥t : - physical data security and software- |

' based data security.
(c) What is the difference between law . ty

and ethics ? k colfes ©2j AT O Eﬁmﬁ—%ﬁ?ﬁ ©Yj
% e TASFOR AErS #1143 ﬁw | | TR e AL Pt T
. (e) What is electronic data interchange
(d) What is ethics for information (EDI) ? How does EDI work ?
. D i 2 !
services - . G ©io] 20[RGE (EDI) e 3wz

w4 R AR (ool e , T B @D
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| GROUP-B
A — 9
~ Answer any three of the following
guestions : : 1 0x3=30

wers firml Ricelza fofabr 2T Tes ¢

What is information security ? What do
you understand by security and threats
in information security ?

wwﬁwww—ﬁw@mwm
ﬁfwﬁwf '

What is the difference among encodmg,
encryption and hashing ?

GIfGe, GRiEenT SII% (BRE TiTre Ny {52

How to secure. 1nformat10n process ? Also
give example.

@%ﬁmﬁﬁﬁs—m?awwci
fa |

What is Firewall ? State the function of
Firewall in e-commerce.

forall |
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How do you measure software security ?
Differentiate between Black Box Testing

and White Box Testing.

w7l SEBE I (AT GRA? G I
Gk o= (AN I iR Mo #Aidy for|

Write short notes on any two of the
following : |

e Rt 7519 9o 5 GO ol 3
(a) Software piracy |
(b) Security standards
T AR
(c) E-wallet
B
(d) Spam
W_
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3. Answer the following questions : (any
three) 5x3=15

f

|

{

|

J ok (@) Write down the advantages and
disadvantages of E-commerce.

OPTION - C
( Web and E-commerce Technologies )

Paper.: CSC-HG-4036

il ANTA . : -
nswer the following questions : 1x7=7 | : : :
(@) What is Www » : | (b) Describe the process of registering a

_ Hiigl | ' ~ domain. '

b i : :

(b) What is electronic fung transfer ? | :
(¢) What is Firewall ? NG ! (c) Write down the strategies for i
| ' developing E-commerce web sites.

(d) What does paperless bill mean ?

(e) What is SSL ? . o (d) Write down the PROS and CONS of
()  What is hackjng? B | - online shopping.
(g) Give the full form of WAN., ] ,‘i‘ (e} What is.computer virus ? How does
| : l o it spread ? Write the measures taken -
2. Answer the following questions: 2 x4=8 for virus protection. - .
(@) Write any two activiti | . O '
E-commerce. Gl . , 4. Answer any three questions from the
(b) Diff { _ . following : 10x3=30
tierentiate between G2B and G2C. ’ (@) Explain the various' business models

(c) Briefly describe the value exchange in E-commerce.

system. |
(b) Explain different types of threats of

d} Write do : . :
(d} o app‘lﬂif(r:la l;h.e role of internet in ‘ E-commerce and the measures to be
— on, | ' taken to protect from the threats.

3 Bem-4/CBCS; CSC C 43037473, ROJTCA HGTRCITT Rolo
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(c) Describe the statutery provisions l - OFPTIONQD .
covering cybei" ‘defamation in India. _ | ( Computer System Architecture)

(d) What is internet marketihg' ‘? EXpléin Paper : CSC—_HG—4046

t . . . | 5 i ‘ .
he internet markf_:tlng strategies. bwd L/ Answer, the HolCRRE LT Al o
What are the advantages of internet ; ' | |

marketing ? | ok (@) What is Boolean algebra ?

: LA . : . What do you mean by XOR gate ?
(e) Discuss the opportunities and (e ’ 4 >

challenges of E-commerce in India. (c) What is logic diagram ?
; : | : "(d) What is stored in a program counter
(f) Describe the various electronic : g ; (PC) ? .

payment systems.
: {e)  What is accumulator ?

i L . (f). What is instruction set ?
. , (g9 What is flip-flop ?
| ' 2. Answer the following questions :  2x4=8

(a) Differentiate between combinational
circuit and sequential circuit.

(b) State ‘duality principle’. Give
examples.
(o) Name three types of computer

instructions used in a basic
computer. <

(d) What is instruction format ? Name
its three most common fields.



- 3. 'Answer the following questions : -
three) : gy

5x3=15

(a) Simplify the Boolean function

®)

(c)

(d)

(e)

F(A B,C, D)= 2(01358910131415)
by using K-map.

Explain how digital computer
represents the character. Also
explain two types of such
representation briefly.

- What is I/O interface ? What are the
needs for using I/O interface in .
computer ?

How does the computer handle an
interrupt ? Explain it.

Explain interrupt-initiated or
interrupt—driven I/O with the help of
a simple diagram.

4. Answer the following questions : {any

three)

(@)

10x3=30

What are the five different logié gates.

used for the design of digital circuit ?

 Give their logic symbols along with

truth table of each.

(1+1)x5=10

(b)

(c)

(@)

(e)

Explain briefly about any five
different addressing modes that are

used by the computers.

What do you understand by machine
language ? Describe the basic concept
of assembly language. 5+5=10

With the help of a block diagram,
describe the components of a micro-
programmed control unit.

Draw the logic circuit along with truth
table or function table of the following :
S+5=10

fil W3 to'— 8 line decoder
(ii) SR or RS flip-flop - |

Define stack. Explain the stack .
organization of a CPU by defining two
methods of its implementation. Draw a

diagram showing thé register stack.
2+5+3=10
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7 OPTION-E
( Introduction to Database Management Systems )
: CSC-HG-4056
TCA-HG/RC-4016
TIT—RC—4O 16

1.1 Answer the followmg questions as directed :
' 1x7=7

Paper

(a) Storing each logical data item in only
one place in the database is known as
~ data normalization.

(State Trae or False)
ATOIE §1@ﬂﬂ® \'JQU gdize (AT data
normalization (JieTl A
(%% @ qu% J%aff)

(b) Entity .types‘ that do not have key .

attributes of their. own are called

1 A(Fill in the blank)
fitai9 Entity © key attributes Q&
CGIRREAR (@It '

(%) 912 {79 71)

Contd.

(¢) 2nd Normal Form (2NF) is based on
functional dependency.
(Fill in the blank)

ond Normal Form (2NF)
functional dependency 3 &7¥® SIIF© |
(:ﬂa‘? 312 =74 71)

(d) - ERR stands for .
Lot (Fill in the_blank) :

ERR (A 3” fRfdg =1
(SR szw =)
(e) ————— command is used to create
a new table in SQL. (Fill _in the blank)
SQL ® —— command IR I T
table ¥93 AR (3T 91 279 )

{f) Prlmary key can be NULL.
(State True or False)

Primary key € I NULL 2] Al
(8% (1 oG [T31)

(g) Project is an operator in relational
algebra. (State True or False)
Project ¥ relational algebra § <0l 5 |

(3T 31 77 )
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\ . - 2. Define the followmg terms :
| e o

(a) Database

(b) DBMS

o) Data independence
(d) Attnbute |

2x4=8

- 3. Answer any three of the followmg
questions :

 facerar R mwm

~ DBMS.,
DBMS ¥ hﬁmﬁa ael%n ﬁmr

(b) Differentiate between :

oML fordt 3
(i) Strong entity and weak entity

(i) Composite attnbute and muln—
-valued attnbute

(c} What are meant by ent1ty 1ntegr1ty and
referentlal 1ntegr1ty constraint ?

Entlty integrity W< referentlal 1ntegr1ty
constraint ¢ ﬁ5 Tﬁﬁ“f’

J - 400 O IG5, RO KGR RS 22 Contd.

- 5x3=15

(a) Bneﬂy e;cplam the charaéteristies “of .-

~ L.

(d) 'Define INF and 2NF
o 1NFW<=2NFH{°@T%{W :

" (e) .How to convert an ER d1agram to
'relatlonal schema" :

'ER d.lagram T ot relanonal schema 'ﬁ

Nc o ﬂﬁa%‘»r IR aife |
4. Answer any three of the followmg -
" questions . - T 10%3= 30
"~ (a) Explam the archltecture of DBMS
" DBMS eieR 3 fa

(b)) What is a relationship type ? Explain ‘
“ the differences among a relationship
instance, a relationship type and a
relationship set. ' '

Relationship type RSt relatlonsh1p
instance, a relatlonshlp type ©i% a
relationship set? ﬁw foran

(c What are the dlfferent types of- SQL?
Explain any two with sultable _

example.

SQLRWW%?WWW“
smaWﬂ@Wmﬁth
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(d) Llst the operations of relatlonal
algebra and the purpose of each.
" Relational algebra 3 fFaiaRR it eiw
A AT W@N ferat

(e) . Is it possible to succes‘s_fully map a - .
binary M:N relationship type without
requiring a new relation ? Justify your.
answer. ' )

ot e T reléﬁonWMN
: relatlonshlp map aﬁa AR 2 QRO
. Afesie 3=
] Discuss 1nsei't10n deletion and
modification anomalies. Why 'are they

considered bad ? Illustrate w1th
examples.

‘Insertion, deletion, Wﬁe modification
anomalie (AR BITE6A! 411 3R o
31 Rcaoa 1 22 Taiggens e 3¢ 91
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